IPCE (New Syllabus)

' Paper -3 JUL
ROIINO. ..evvereeeeerieinnnn, Costand Management Accounting . 201
Total No. of Questions — 06 Total No. of Printed Pages — 24
Time Allowed — 3 Hours Maximum Marks — 100

BAK-H

Answers to questions are to be given only in English except in case of candidates who
have opted for Hindi Medium. If a candidate has not opted for Hindi Medium, his/her
answers in Hindi will not be valued.

Questions No. 1 is compulsory.

Answer any four questions from the remaining five questions.

Working notes should form part of the answers.

Marks
1.  Answer the following : 4x5§
(@ MM Ltd. has provided the following information about the items in its =20
inventory. _ '
Item Code Number Units Unit Cost ()
101 ; 25 50
102 300 01
103 50 80
104 75 08
105 225 02
106 75 12

MM Ltd. has adopted the policy of classifying the items constituting

15% or ahove of Total Inventory Cost as ‘A’ category, items

constituting 6% or less of Total Inventory Cost as ‘C’ category and the

remaining items as ‘B’ category. ' '

You are required to :

(i) Rank the items on the basis of % of Total Inventory Cost.

(ii) Classify the items into A, B and C categories as per ABC
Analysis of Inventory Control adopted by MM Ltd.

BAK-H P.T.O.
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(b) SNS Trading Company has three Main Departments and two Service

(©)

Departments. The data for each department is given below :

Departments Expenses | Areain Number of
Main Department : (in%) (Sq. Mtr) Employees
Purchase Department 5,00,000 12 800
Packing Department 8,00,000 15 1700
Distribution Department | 3,50,000 7 700
Service Departments :

Maintenance 6,40,000 4 200
Department
Personnel Department 3,20,000 6 250

The cost of Maintenance Department and Personnel Department is
distributed on the basis of ‘Area in Square Metres’ and ‘Number of
Employees’ respectively.

You are required to :

(i) Prepare a Statement showing the distribution of expenses of
Service Departments to the Main Departments using the “Step
Ladder method” of Overhead Distribution,

(if) Compute the Rate per hour of each Main Department, given that,
the Purchase Department, Packing Department and Distribution
Department works for 12 hours a day, 24 hours a day and 8 hours
a day respectively. Assume that there are 365 days in a year and
there are no holidays.

AUX Ltd. has an Annual demand from a single customer for 60,000

Covid-19 vaccines. The customer prefers to order in the lot of 15,000

vaccines per order. The production cost of vaccine is ¥ 5,000 per

vaccine. The set-up cost per production run of Covid-19 vaccines is

¥ 4,800. The carrying cost is ¥ 12 per vaccine per month.

You are required to : :

(i) Find the most Economical Production Run.

(i) Calculate the extra cost that company incurs due to production of
15,000 vaccines in a batch.

BAK-H
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(d) LR Ltd. is considering two alternative methods to manufacture a new
product it intends to market. The two methods have a maximum output
of 50,000 units each and produce identical items with a selling price of

325 each. The costs are :

Method — 1 Method -2

Semi-Automatic | Fully-Automatic

() ®
Variable cost per unit 15 10
Fixed costs 1,00,000 3,00,000

You are required to calculate :
(1) Cost Indifference Point in units. Interpret your resuls.

(2) The Break-even Point of each method in terms of units.

(@ The following data relates to manufacturing of a standard product 10
during the month of March, 2021 :

Particulars Amount (in %)
Stock of Raw material as on 01-03-2021 80,000
Work in Progress as on 01-03-2021 50,000
Purchase of Raw material ' 2,00,000
Carriage Inwards 20,000
Direct Wages 1,20,000
Cost of special drawing 30,000 -
Hire charges paid for Plant 24,000
Return of Raw Material 40,000

BAK-H - P.T.O.
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BAK-H
Carriage on return 6,000
Expenses for participation in Industrial exhibition 8,000
Legal charges 2,500
Salary to office staff 25,000
Maintenance of office building 2,000
Depreciation on Delivery van 6,000
Warehousing charges | 1,500
Stock of Raw material as on 31-03-2021 30,000
Stock of Work in Progress as on 31-03-2021 24,000

° Store overheads on materials are 10% of material consumed.

Factory overheads are 20% of the Prime cost.

10% of the output was rejected and a sum of ¥ 5,000 was realized

on sale of scrap.

10% of the finished product was found to be defective and the
defective products were rectified at an additional expenditure

which is equivalent to 20% of proportionate direct wages.

The total output was 8000 units during the month.

You are required to prepare a Cost Sheet for the above period showing
the : '

(i) Cost of Raw Material consumed -
(ii) Prime Cost

(iii)) Work Cost

(iv) Cost of Production

(v) Cost of Sales

'BAK-H
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(b) OPR Ltd. purchases crude vegetable oil. It does refining of the same. 5
The refining process results in four products at the spilt-off point — S,
P, N and A. Product ‘A’ is fully processed at the split-off point.
Product S, P and N can be individually further refined into SK, PM,
and NL respectively. The joint cost of purchasing the crude vegetable

oil and processing it were ¥ 40,000. Other details are as follows :

Product Further Sales at split-off | Sales after further
processing costs point processing
®) ®) - Q
S 80,000 20,000 1,20,000
P 32,000 12,000 40,000
N 36,000 28,000 48,000
A S 20,000 -

You are required to identify the products which can be further

processed for maximizing profits and make suitable suggestions.

(c) Following information is given of a newly setup organization for the 5
year ended on 315 March, 2021. |
Number of workers replaced during the period 50
Number of workers left and discharged during the period 25
Average number of workers on the roll during the period 500

You are required to :

(i) Compute the Employee Turnover Rates using Separation Method and
Flux Method.

(i) Equivalent Employee Turnover Rates for (i) above, given that the

organization was setup on 31% January, 2021.

BAK-H P.T.O.
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(3) The Profit and Loss account of ABC Ltd. for the year ended 31 19
March, 2021 is given below :

Profit and Loss account

(for the year ended 31* March, 2021)

To Direct Material 6,50,000 | By Sales 15,00,000
To Direct Wages 3,50,000 (15000 units) g
To Factory overheads 2,60,000 | By Dividend 9,000
To Administrative overheads 1,05,000 received Al
To Selling overheads 85,000
To Loss on sale of investments 2,000
To Net Profit 57,000
15,09,000 . 15,09,000

e  Factory overheads are 50% fixed and 50% variable.

S e ol ® o 10 vt el

e  Selling overheads are completely variable.

e  Normal production capacity of ABC Ltd. is‘20,000 units.

e Indirect Expenses are absorbed in the cost accounts on the basis
of normal production capacity.

e  Notional rent of own premises charged in Cost Accounts is
amounting to ¥ 12,000.

You are required to :

(i) Prepare a Cost Sheet and ascertain the Profit as per Cost Records
. for the year ended 31% March, 2021.

(il) Reconcile the Profit as per Financial Records with Profit as per
Cost Records. - '

BAK-H
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(b) PQR'Ltd. is engaged in-the production of three products P, Q and R. 10
The company calculates Activity Cost Rates on the basis of Cost
Driver capacity which is provided as below :

Activity ' Cost Driver ‘Cost Driver Cost (%)
o Capacity

Direct Labour hours | Labour hours ' 30,000 Labour hours | 3,00,000
Production runs No. of Production runs | 600 Production runs 1,80,000—
Quality Inspections | No. of Inspection 8000 Inspections 2,40,000_~

The consumption of activities during the period is as under : |

Activity / Products P Q R

Direct Labour hours | 10,000 8,000 6,000

Production runs 200 180 160

Quality Inspection 3,000 | 2,500 1,500

You are required to !
(i)  Compute the costs allocated to each Product from each Activity.
(iiy Calculate the cost of unused capacity for each Activity.

(iii) A potential customer has -approached the company for supply of
12,000 units of a new product ‘S’ to be delivered in lots of 1500
units per quarter. This will involve an initial design cost of
¥ 30,000 and per quarter production will involve the following :

Direct Material T 18,000
Direct Labour hours . 1,500 hours
No. of Production runs 15
No. of Qﬁaiit’y Inspection ' 250

Prepare cost sheet segregating Direct and Indirect costs and
compute the Sales value per quarter of product S’ using ABC
system considering a markup of 20% on cost. |

BAK-H P.T.O.
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(@) A Manufacturing unit manufactures a prod}lct ‘XYZ’ whicl‘ls passes 10
through three distinct Processes — X, Y and Z The following.data is

given ;

Process X | Process Y | Process Z
Material consumed (in %) 2,600 2,250 2,000
Direct wages (in ) 4,000 3,500 3,000

e  The total Production Overhead of ¥ 15,750 was recovered @
150% of Direct wages.

e 15,000 units at T 2 each were introduced to Process ‘X’.

e  The output of each process passes to the next process and ﬁﬁally,
12,000 units were transferred to Finished Stock Account from

Process ‘Z’.
¢  No stock of materials or work in progress was left at the end.

The following additional information is given :

Process | % of wastage to | Value of Scrap
- normal input per unit %)
X 6% 1.10
Y ? 2.00
Z 5% 1.00

You are required to :

(i) Find out the percentage of wastage in process ‘Y’, given that the

output of Process ‘Y’ is transferred to Process ‘Z’ at T 4 per unit.

(ii) Prepare Process accounts for all the three processes X, Y and Z.
BAK-H
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(b) MRS‘L Healthcare Lfd.l has incurred the following expenditure during 5
the ldst year for its néle launched ‘COVID-19’ Insurance policy :

L4
Ofﬁcc administration cost 48,00,000
Clla,'im manage'ment‘ cost: 3,80,000
E;r‘}ijloyees cost 16,20,000
Pos.tage and logistics | 32,40,000
Policy issuance cost 29,50,000
Facilities cost - 46,75,000

Cost of marketing c;f the policy 1,38,90,000

Policy development cost 35,00,000
Policy servicing cost , 96,45,000
Sales support expenses 32,00,000
LT. Cost ' ?

Number of Policy sold : 2,800

Total insured Valuelof policies — ¥ 3,500 Crores
Cost per rupee of insured value — T 0.002

You are required to :

(i) Calculate Total Cost for “COVID-19” Insurance policy
segregating the costs into four main activities namely (a)
Marketing and Sales support (b) Operations (c) I.T. Cost and (d)
Support functions. |

(i) Calculate Cost Per Policy.

BAK-H P.T.O.
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(c) Brick Constructions Ltd. commenced a contract on April 1,2020. The

(a)

contract was for ¥ 10,00,000. The following information relates;to the
Contract as on 31% March, 2021 :

e  The value of work completed up to Feb. 28, 2021 was certified
by the architect and as a matter of policy; the Contractee has
retained T 1,30,000 as retention monéy which is 20%: of the
certified work and paid the balance amount.

o The cost of work completed subsequent to the arghit:ect’s
certificate was of ¥ 30,000. 1

o  The expenditure incurred related to material purchase Wages and

other chargeable expenses were ¥ 5,10,000
e  Materials of the value of ¥ 20,000 were lying on the site.

e A special plant was purchased specifically for this contract at
T 40,000 and after use on this contract till 31%* March, 2021; it
was valued at ¥ 25,000.

You are required to compute the value of Work Certiﬁéd, Cash

received for certified work and Notional profit of the contract for the
year ended on 31* March, 2021.

The standard output of a Product ‘DJ’ is 25 units per hour in
manufacturing department of a Company employing 100 workers. In a
40 hours week, the department produced 960 units of product ‘DJ’
despite 5% of the time paid was lost due to an abnormal reason. The
hdurly wage rates actually paid were ¥ 6.20, ¥ 6.00 and T 5.70
respectively to Group ‘A’ consisting 10 workers, Group ‘B’ consisting
30 workers and Group ‘C’ consisting 60 workers. The standard wage
rate per labour is same for all the workers. Labour Efficiency Variance
is given ¥ 240 (F).

BAK-H
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You are required to compute :
(i)~ Total Labour Cost Variance.
(ii)) Total Labour Rate Variance.
(iit) Total Labour Gang Variance.
(iv) Total Labour Yield Variance, and

(v) - Total Labour Idle Time Variance.

(b) PSV Ltd. manufactures and sells a single product and estimated the 10
fbflbwing related information for the period November, 2020 to

March, 2021.
3 November, | December, | January, | February, | March,
Particulars .

2020 2020 2021 2021 2021
Opening Stock of 7,500 3,000 9,000 8,000 6,000
Finished Goods -
(in Units) .
Sales (in Units) 30,000 35,000 38,000 25,000 40,000
Selling Price per 10 12 15 15 20
unit (in )

Additi.onal Information :

e  Closing stock of finished goods at the énd of March, 2021 is
10,000 units.

e  Each unit of finished output requires 2 kg of Raw Material ‘A’
and 3 kg of Raw Material ‘B’.

You are required to prepare the following budgets for the period

November, 2020 to March, 2021 on monthly basis :

(i) Sales Budget (in ¥)

(i) Production budget (in units) and

(i) Raw material Budget for Raw material ‘A’ and ‘B’ separately (in
units)

BAK-H P.T.O.
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6. Answer any four of the following : Wi, 4x5

(3) Specify the types of Responsibility centtés- under the following

B !‘
1

situations :

(i) Purchase of bonds, stocks, or real estate property.

E Ll

(1) Ticket counter in a Railway station. -

[ IR

(iif) Decentralized branches of an organization.

(iv) Maharatna, Navratna and Miniratna public sector undertaking
(PSU) of Central Government.

(v) Sales Department of an organization.

(b) What is Margin of Safety ? What does a la;ge Margin of Safety

indicates ? How can you calculate Margin of Saféty ?

(¢) Rowan Premium Bonus system does not motivate a highly efficient
worker as a less efficient worker and a highly efficient worker can

obtain same bonus under this system. Discuss with an example.

(d) What do you understand by Build-Operate-Transfer (BOT) approach

in Service Costing ? How is the Toll rate computed ?

() Write a short note on VED an'aig;Js'fé of Inventory Control.

BAK-H
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(Hindi Version)

3 qheni e R e wream g 2, TeAi % It hae i °
A2 | F5 whemeff R =) amem 7 g @, IR R A e g,
A 3ok T o o3 T I 1 s e B |

¥ T&T 1 FaE 2 |

R gt T 8 3 R =R et 6 I G |
it feofirT (Working Notes) I W B4 =I1e |

Marks

Marks

4x5

% 3 aﬁm :
(a) .. forfie % g ameh & weta Frefiie g o waelt =20
(inventory) T Tty It
7 $IS (CODE) ¥ | THhigdl | 315 o )

101 25 50
102 300 01
103 50 80
104 75 0%
105 225 02
106 75 12

.. fafies g wieha el % affetor Hifd & sr=wia o @l
Ted B 15% S a1 3E9 ek e it wwEl i Aof-A J @
™ B, me%s%mw@mwﬁmﬁavﬁ ‘© ¥
T T 3T 9 ) At B H @ T g |

T anfE R

() Tt T AT b IMER TG ht Fofi T |
(ii) MM%ﬁ%@mmqudﬁﬁ(ABC)ﬁsﬁw%m

WS A, B, 3R C &1 fiepa qraft fremon Hifsr |

© The Institute of Chartered Accountants of India
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(b) TH. T.TH. T ST e Rorerds ot e Ram 3ik dr da R
? | I3 faum & arters Prafiafeq @ 5
fawmr =T (RH) | a7 (T hR) | s e

g@ﬁm:
ERRCEI ~5,00,000 12 800
Afes fasm 8,00,000 15 1700
T R 3,50,000 7 7700

| TEvETE foam 6,40,000 4 200
Ufererfia famr | 3,20,000 6 250
TEEE fovm 3k afeanffa fsmn ) @a 31 e o a1 B 3k
HftreRt Y T@ % TR W fyafa R
Y AR
) Wﬁfﬁmmﬁmﬁwﬁﬁwﬁ%mﬁg@ﬁw

4 Iufteaat @i guTia g3 U faron w61 fmfor iR |

(i) T fovm, e fawm of fyow fvm & &9 o o
12 9ve gfafed, 24 =ve ufafe, wgwm&:éﬁgﬁm
g@aﬁ%mﬁqﬁrmaﬁmmﬁﬁﬁlmﬁgéﬁsaﬁﬁq
365 3R BT Wi s T R |

(c) 3 fafiee # T aE® @ 60,000 FTS-19 Yo7 &1 T ThT
2 | UTEe U TRCH 15000 9 359 0 Y 3007 wEd & | e 6y
IcATEH <l T % 5,000 i I & | Fifre-19 Joefia i W 3w
T TATIHT T 4,800 & | el Y wiemen @ 2 12 R AR Sk
IR | |
mﬁf\?ﬂﬁ%

() waiferes fraerd semes @ fefed |
(i) 3@ Frfafem Awmg S T Hifv, aﬁwﬁqmmﬁlsooo
JTEf % Ieare  HROT = B |

BAK-H
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(@) TR fafies T A IrE F IeTed ¥ & Swfoues almt b
TR ST TR & | Sl ARt & StfrehaH Jedred qrET 50,000 THTE
3 | RV 7 25 3 fsra e 3 TuE SR w1 R R @ | T RE e

-1 @) | a2 ()

| g @t | Ul Wt
et T it 15 10
| FRr AT 1,00,000 3,00,000

Marks

(1) T fr fag ot o AR | o1 wfter i freer Hif |

2) TEF 0% & sl & wafrese fawg R o IR |

(a) T HTE 2021 3 UH A IUTE & IcUTeH | Faer Aoy g1

TEA R -
oo gty ?)
=1 HIA 1 WK 01/03/2021 80,000
| =T R 01/03/2021 50,000
F AT H1 5 2,00,000
AT e 20,000
et 1,20,000
o et <t @ 30,000
wATe & ford < fopten o 24,000
Fel HTe shi aTaEt 40,000

BAK-H
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T R AT 6000 |

renfires yee & srfert ¥ o . 8,000

I = 2,500

AT AN A7 25,000

AT Wa 1 T@@E | 2,000 e

el wem 6,000

YIRS Y5 (Warchousing) 1,500

= T T WS 31/03/21 30,000

9oL T HER 31/03/21 24,000

AT W R IR, IIYH (consumed) HTE T 10% B |
HITEHT ITNSTT TUH AN (Prime Cost) T 20% 2 |

ScTeH 1 10% e st feam o i whw & R @ 2 5,000
I R T |

QAR AT T 10% T 91 T4 AR AT Y A @S |
YU foha1 T S e e woed ok 20% % S & |

HTE % QR Het 3TE 8000 TS T |

T I & fo T T o S araft ) i g s |
(i) SUME F= | I AT

(i) 9

(iil) R AT
(iv) STUTET AT
(vy Tasha <t &mma

BAK-H
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(b) 3.3, fAfee, Fe IRRTe 3Tae F3 FA & HR IqehT TR
Tt 8 | TResRTo IR % TRUmAEET JUER fieg W AR 3T
e E SR S, P, N 3t A € | 3T ‘A’ TuFhis famg T QUi
qfifa (TEES) & | 39K S, P 3R N H TH-TH Hb Al
wfsha % FWS: SK, PM 3T NL §HT Hehd § | FS Aieasl A&

%mafﬂsrﬁmﬁégwm % 40,000 2 |
I | afefem e | quehew farg | rfafe whiee
E () A fosha () ERNELRTE T
S 80,000 20,000 1,20,000
P 32,000 12,000 40,000
N 36,000 28,000 48,000
A 20,000
:ﬂTqﬁaﬁf&m% wmﬁﬁ%ﬁ#ﬁmuﬁmﬂ%m—?
FTRreRan TTH TEH Ht IR ITYFR GIE ¢ | |

(c) U Ta Tifue 4e % 31 9, 2021ﬁaﬁmﬁmﬁwwﬁ
HRICIE

o gty o A wforenfia st it @ L 50
. m%ﬂm@@mﬁwwﬁgﬂmﬁﬁm I8
o ST % A Ut W 3N Hfrepi i T&A 500
IR e &

() A 5T ITE ) GEEhH Tgft SR woed Tgfd @ TOET R |
(i) IR (i) oG FHH FATH 7 e G, vefF g femgen 2 &
TR 31 T, 2021 T MG AR |

BAK-H P.T.O.
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3. (a) 31T, 2021 % GHTA & & 99 = ABC%ﬁ%’s’%W—"&Wﬁ@T@I?ﬁ 10
ESEEEECEE
AT ET
(31 5, 2021 % TR A @ ¥ ¥
Jea& arft 6,50,000 | fershar (15,000 3ehTSaT) - 15,00,000
| e et 3,50,000 | STeq @ | 9,000

HREHT N | 2,60,000
e Jufe | 1,05,000

frzme Tfeo 85,000
fafem & fom|
R g 2,000
T o 57,000
15,09,000 - 15,09,000

o - TG TR 50% TTE 3N 50% ARadfie § |

o  VTEf Iufead 100% ©E R |

o ABC fafiRe # 20,000 g1l ht THM IeTeH FHA 2 |

o TG WG H IUY I FAN IUIGH HAAT % HAYUR W

Faeifd Rl S 2 |

o TG o@l | W & W o HIoTeh [T & @9 | T 12000
AR |

IR ITfErA R

(i) T AFTT YU dIR 3R 31 9=, 2021 I GHAT 8 13 99 &
o2 ST gl ¥ ST o bt fetr |

(i) Torftr q&re & STHER T % WY ARG TS & AR o H
T W |

BAK-H
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(b) PQR fafRs ¥ SRl P,.Q 3 R %1 IGH FIdl 8 | I8 HEHT 10
AT STeTeh SHAT 9 TR 9L i ST gl <hl 0T et 8 S T
ﬁmaq%
wfafafy AN 9Teeh | IR etk &Hal | W (&
)
I8 SH U0 | 5T TUe 30,000 %9 "0 3,00,000
SAGAT | 3caTed @ 1 §&AT | 600 3TEH W 1,80,000
T Fveor | Frero i wen | 8000 Flwmr 2,40,000
Frafty % giow nifaferfem i gua freq 2 '
Tfafaft / Sarg P Q R
T IE ST G0 10,000 | 8,000 6,000
3T | 200 180 160
T Qe 3,000 | 2,500 | 1,500
38 Ifera 2
() e Tifafett & e 3euTg i ITsfed ARTAT i TOET W, |
(ii) e Ty % for arwar <ht rTa ) TOHT R | '
(111) T SIS AT 3 T T 3e41g S <l 12,000 FohTEAT Y STgfet
% ford et & |k feal B 3 sl 1500 FehTEAt ST
¥ Tug & 1 I ¥ | g 2 30,000 Y AR fewrE A
gfefera gt 3R Tl fodh Seameqt & femr smfret &m
TI& Tt ¥ 18,000 -
A& HH G2 1500 &2
IATeT W 6 g&q 15
Tmmﬁﬁwﬁéw 250
Yeae 3N YTE ARG Y g H g3 Th Aa JOo S
3R AFT T 20% 1 HEh3TT (Markup) A g3 3G S =T T
femmEt fershar o <Y o ABC e % g Rl |
BAK-H P.T.O.
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4. (a) Wb ITTCH TS XYZ TTHh IUTE I IATET Hidlt & o Rr = Rt 10
STt X, Y 3R Z & Torar & | e geae i E
WX |sBeny sz
o e (7 ) (2,600 (2,250 [2,000
T 49 4,000  [3,500 {3,000
o T e IR 15,750 & I T T HW A 150% I TG
R
o  TSRAT X F 15,000 FohTEAT 1 o6 T 2 wfer 3ohre & wfthrfera <1 7 |
o WK BRI ITeH el Whka A wHiaia R mn i
JHad: 12,000 T T TIHRY THFAT Z § IR ik @@ o
Ezikie
o T IR ST T T ThHY e T AT T T |
St Fer e < T R -
WHRIT | IR SAFTA T AT (%) | Sk S 3T 1 e )
X 6% 1.10
Y ? 2.00
z 5% 1,00

() SR Y # srafire % Sl W e, @i 7€ fean gan & when
‘Y%mﬁuﬁmzﬁﬂuﬁrmﬁﬁwmw% |

(i) IR X, Y 3R Z i 3 @t w1 fmior Shife |

BAK-H
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(b) MRSL FeudhR faifee 1 et ad & W 79 &= (launched) 5
Hifere-19 s uifereht & for fret @t Fordt -
3
HITHE JTH{e ATTd 48,00,000
FAH Y ARTA 3,80,000
| Tt 16,20,000
m@m 32,40,000
iteret forte AT 29,50,000
gfwd T 46,75,000
giteret < faqum & T 1,38,90,000
iferet fereprar wmTa 35,50,000
et ¥ (Servicing) T 96,45,000
foshe agrEs == 32,00,000
IR 4. AT | ?
uiteret foska <t w@mn : 2,800
et i1 ot A 7T - ¥3,500 (FU3)
sitfera wew <t wfd &9 ArTa 2 - 20.002

ITIE ITuftaa &

0] aﬁﬁ&ms@%&wﬁvﬁaﬁmﬁwj@wﬁ%ﬁsﬁ
# (A) faom 3R foshe @@= (B) m (Operations)
(C) 3. &. VT (D) Hawh Hid & wledt § Pt Tl ht ORI L |

(i) ST wiferelt <Y et AT shl TUHT Y |

BAK-H P.T.O.
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BAK-H Marks
) forp sz fafiee ol 1, 2020 = s wfye R | Gl 5
7 10,00,000 % T 1 &7 | 31 AT, 2021 % GieeT | Heifer goaT
ﬁwa?[%: |
o 28l 2021 T T w1 1 qEd anfhe Y wwiftr i o
- IR HAifT % g Isemar g 2 1,30,000 Semor Tl & w9
el Wit St f it e T 20% 8 3T AW Tl 7 e W
e |
o  Hifchesh % FHTUITA & vaTq R fordl el <l wmma % 30,000 off |
o  5,10,000 % @< Al 5, oW 3N U =T FwI A BRI T |
e 20,000 Hcd <l TAFTA shi AT T T T U] oft |

e ¥ 40,000 T fo¥IY G 1 Ty a9y &9 @ 39 3% &+ o R
T o7 3R 31 9N, 2ozlaassaéé;mwnésmaww
T4 % 25,000 T |

mw@maﬂﬁﬁﬁwﬁ SHIRTA 1 3 e Aehe 3 31 AT, 2021
aﬁmzﬁﬁmﬁa&%ﬁ@%mﬁwmﬁmmﬁ%@
IfEa R | '

(a) W HA % Fmior fonrer & Rt 100 wend Prgea &, sa s & 10

341G DJ 1 WM 3cA1G 25 TS i TSI B | 40 50 & garg §, fed
T T HT 5% SEE SR A = BN % wrerqg o Rvwr I g
DJ 1 960 FTS 1 e foharm | 10 sifdrepi & wiRifera &g <A, 30
Akl & wffiforg wqg ‘B oft 60 sl & aftrfera wg ‘'C' =
Al FH GUeT G TAH AN T 6.20, T 6.00 IR T 5.70 H X &
mlmmamwwaﬁaﬁ%%ﬁwélmw
ferTor 2 240 (F) e T 2

BAK-H
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(1) H& 99 AR fomwm
2) FeT 77 K for=o
(3) e 3| 7 fereror
(4) P 5| Il fmmm
(5) FT HW ISR 2134 (Idle Time) Toreror

(23)
BAK-H

(b) PSV fafiRe ws 3Iaare 1 fmior wa fomma +h @ 3tk F9a% 2020 A
Al 2021 6 Srafy % o e weiftr el @ owEe e :
Al TR | Rwaw | SFel | wEh | W
2020 | 2020 | 2021 | 2021 | 2021

AIR =T T 7,500 | 3,000 9,000 8,000] 6,000

TRy i

(3T8) H

fasra (wfa s@E) | 30,000 | 35,000 | 38,000 25,000 | 40,000

fopr g wfe 10 12 15 15 20

T (X H)

Fferfer = :

. ﬁwmwaﬁwaﬁmmﬁ 2021 % 37 # 10,000 FHTE R |
o IR UG hl Yk SHTS 1 2 6. 707, Feam ATt ‘A 31K 3 R

UTH H=T JTA ‘B’ Y AT IS 8 |
HTH T 2020 & A= 2021 H Il % R wrE F AR Frt aoe
1 AIR BT 2 |

() foraesre

(ii) WW(W‘})
(iii) =T WA ‘A’ 3R B’ %@ﬁn—ﬁnmmm(mﬁ)

BAK-H
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6. T3 fordi ar & s AR 4x5
(a) TETECE g % YR H1 fe uftfeafeat # Ryt Hifv |
() §Ts, Wik I e wRe wiad +1 %
(i) T VIF § Rehe FEIX
(iii) T G H fshesiiopa IrEw
(iv) g TIHR & GES " &3 % IThAT hl HERAT, Toled 3 e
: T ST
(v) TGS 1 s Ferermt

(b) HREAT <t T (Margin of safety) T 8 7 T S & HHAT 1 We i
A & 7 ST GRA hi HwT Y 0T FY FTHA R 7

(c) Taw Hiftem &Fa ugly 3= Fve sfteha 1 afinifa T wwm
i T 1t urer st o 3= e Afires 3@ vl o wHE sa
Torer wha & | IgTERT wida s IR |

(d) =1 T fafYy 3§ Foivr-deTem-g=Teen (BOT) J@uren @ 3 @

quETa € 7 3t <R MO FA A TR R 7
(e) g T T3aror % VED fereewor  wftra feoaoft 1R |

BAK-H
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